The Mean Integrity of Paths and Cycles

Claus Ernst and Beth Rountree Department of Mathematics Western Kentucky University Bowling Green, KY 42101

email: claus.ernst@wku.edu and beth.rountree@wku.edu

Abstract

Let G be a graph with n vertices. The mean integrity of G is defined as follows: $J(G) = \min_{P \subseteq V_G} \{|P| + \tilde{m}(G-P)\}$, where $\tilde{m}(G-P) = \frac{1}{n-|P|} \sum_{v \in V_{G-P}} n_v$ and n_v is the size of the component containing v. The main result of this article is a formula for the mean integrity of a path P_n of n vertices. A corollary of this formula establishes the mean integrity of a cycle C_n of n vertices.

1 Introduction

Graphs are often used to model real-world problems [2], such as problems in a computer network. In such a network, for example, it is not desirable to have all communication disrupted when only one station is not working. Instead, a single station's failure should have as little effect as possible on communication among the rest of the network. Ideally, in order to minimize the disruption of communication, every station should have a direct connection to every other station; however, the cost of these connections would be high, making that solution impractical in the real world. Some balance must be achieved between connectedness and cost, but fewer connections increase the network's vulnerability. This problem inspired the study of the integrity of graphs, first introduced by Barefoot, Entringer and Swart [3].

Let G be a graph with n vertices. The integrity of G is defined as follows: $I(G) = \min_{P \subseteq V_G} \{|P| + m(G - P)\}$, where |P| is the size of P and m(G - P) is the size of the largest component of the graph G - P.

In graph G, any set P whose removal achieves this minimum is called an I-set. In terms of computer networking, the I-set is the set of failed stations, and m(G-P) is the size of the largest remaining group that retains mutual

communication. All possible combinations of failed stations are examined, as well as the largest group whose communication is left unhindered by the given set of failures. Finding the integrity means finding the "smallest" set that is the most destructive to the entire network's communication.

The integrities of some special families of graphs are listed below and can be found in [3, 4]:

$$I(G) = \begin{cases} n, & \text{if } G = K_n, \text{ the complete graph on n vertices} \\ \left\lceil 2\sqrt{n+1} \right\rceil - 2, & \text{if } G = P_n, \text{ a path of n vertices} \\ \left\lceil 2\sqrt{n} \right\rceil - 1, & \text{if } G = C_n, \text{ a cycle of n vertices} \\ 1 + \min\{m, n\}, & \text{if } G = K_{m,n}, \text{ the complete bipartite graph} \end{cases}$$

Two significant variations of integrity are edge-integrity, denoted I'(G), and mean integrity, denoted J(G). Edge-integrity was also introduced by Barefoot, Entringer and Swart [3], and is defined as follows:

 $I'(G) = min_{Q \subseteq E_G} \{|Q| + m(G - Q)\}$, where m(G - Q) remains the size of the largest component of graph G-Q.

The edge-integrities of some special families of graphs are listed below and can be found in [1]:

$$I'(G) = \begin{cases} n, & \text{if } G = K_n, \text{ the complete graph on n vertices} \\ \lceil 2\sqrt{n} \rceil - 1, & \text{if } G = P_n, \text{ a path of n vertices} \\ \lceil 2\sqrt{n} \rceil, & \text{if } G = C_n, \text{ a cycle of n vertices, } n \geq 4 \\ m+n, & \text{if } G = K_{m,n}, \text{ the complete bipartite graph} \end{cases}$$

Mean integrity is very similar to integrity in that vertices are deleted. However instead of looking only at the size of the largest remaining component, mean integrity takes into account the sizes of all remaining components, replacing the size of the largest component with the weighted average of all components. Mean integrity, then, is a finer measure of vulnerability. Introduced by Chartrand, Kapoor, McKee and Oellermann [5], mean integrity for a graph G with n vertices is defined as follows:

$$J(G) = \min_{P \subseteq V_G} \{ |P| + \tilde{m}(G - P) \} ,$$
where $\tilde{m}(G - P) = \frac{1}{100} \sum_{n \in V} n_n$ and n_n is t

where $\tilde{m}(G-P) = \frac{1}{n-|P|} \sum_{v \in V_{G-P}} n_v$ and n_v is the size of the component containing v. Note that $J(G) \in \mathbb{Q}$, whereas $I(G) \in \mathbb{N}$.

The mean integrities of some special families of graphs are listed below and can be found in [5]:

$$J(G) = \begin{cases} n, & \text{if } G = K_n, \text{ the complete graph on n vertices} \\ 1 + min\{m, n\}, & \text{if } G = K_{m,n}, \text{ the complete bipartite graph} \end{cases}$$

For almost all graphs the three integrities take on different values. This difference already occurs for very simple graphs, for example if $G=C_7$ a cycle of seven vertices, then $I(C_7) = 5$, $I'(C_7) = 6$ and $J(C_7) = 9/2$. In general we have the relationship $J(G) \le I(G) \le I'(G)$, see [1].

None of the three integrities is easy to calculate, and they are only known for very special graphs [1]. In fact the only algorithms to calculate these integrities that can be used on any graph work by an exhaustive procedure that searches through all subsets of the set of vertices (or edges for I'). If such a program is run on a desktop computer, the running time becomes prohibitive for graphs with more than 40 vertices.

Out of the three integrities the mean integrity is the most difficult to compute since one has to keep track of all different sizes of components created by deleting vertices. This can also be seen in that the list of graph families for which the mean integrity is known is the shortest. Missing from this list is the mean integrity of a path P_n of n vertices. Calculation of the mean integrity of a path is the main result of this paper.

2 Mean Integrity of a Path

The following is the main theorem of this article.

Theorem 1 For $k \in \mathbb{N}, k \geq 2$,

$$J(P_n) = \begin{cases} 2k-1, & \text{if } n = k^2 + k - 1 \\ k + \frac{tk^2 + (k+1-t)(k-1)^2}{k^2 - 1 + t}, & \text{if } n = k^2 + k - 1 + t, 1 \le t \le k \\ 2k, & \text{if } n = k(k+2) \\ k + \frac{t(k+1)^2 + (k+1-t)k^2}{k^2 + k + t}, & \text{if } n = k(k+2) + t, 1 \le t \le k. \end{cases}$$

Remarks

- 1. Theorem 1 allows for the computation of the mean integrity of any path. For example, if n = 82, then k = 8, t = 2, and k(k+2)+t = 8(10)+2. From Theorem 1, $J(P_{82}) = k + \frac{t(k+1)^2 + (k+1-t)k^2}{k^2 + k + t}$. Here, $J(P_{82}) = \frac{601}{37} \approx 16.24$. Note that $I(P_{82}) = \lceil 2\sqrt{82+1} \rceil 2 = 17$.
- 2. The result in Theorem 1 is not surprising in the following sense. The integrity or mean integrity of the path P_n is achieved when approximately $\sqrt{n}-1$ vertices are deleted and the remaining approximately \sqrt{n} components all have approximately equal size of approximately $\sqrt{n}-1$. This gives an integrity (or mean integrity) of about $\sqrt{n}-1+\sqrt{n}-1=2\sqrt{n}-2$. The exact formula for the integrity of P_n now only needs the addition of the greatest integer function. For the mean integrity one has to exactly count how many components of a given size there are in G-P. In more detail the following pattern emerges:

If n = k(k+2), then remove k evenly spaced vertices from P_n to cut the path into k+1 pieces of size k. This results into $I(P_n) = J(P_n) = 2k$.

When n increases by one, n = k(k+2) + 1, there will be one component of size k+1 and k components of size k. As n grows larger there will be more and more components of size k+1 until all components in $P_n - P$ are of size k+1. Now $n = k(k+2) + k + 1 = (k+1)^2 + (k+1) - 1$. The integrity now is $I(P_n) = J(P_n) = 2k+1 = 2(k+1) - 1$. However the same integrity can be obtained by removing k+1 evenly spaced vertices from P_n to cut the path into k+2 pieces of size k. Using this way of obtaining the integrity when n increases by one to $n = (k+1)^2 + (k+1)$ there will be one component of size k+1 and k+1 components of size k. As n grows larger there will be more and more components of size k+1 until all k+2 components in $P_n - P$ are of size k+1. Now n = (k+1)(k+3) = k'(k'+2) for k' = k+1 and the pattern starts all over again. Figure 1 shows one such cycle.

n	k	form	J(Pn)	
8	2	k(k+2)	4	••••
9	2	k(k+2)+1	31/7	•••••
10	2	k(k+2)+2	19/4	•••••
				••••
11	3	k²+k-1	5	••••••
12	3	k²+k	16/3	••••••
13	3	k²+k+1	28/5	••••••
14	3	k²+k+2	64/11	• • • • • • • • • • • • • • • • • • • •
15	3	k(k+2)	6	**********

Figure 1: The different mean integrities of paths cycling through the different cases of Theorem 1 from n = k(k+2) to n = (k+1)(k+3) for k=2.

The following are Corollaries of Theorem 1.

Corollary 2 The following three conditions are equivalent for a path P_n :

(i)
$$J(P_n) \in \mathbb{N}$$
,

(ii) $J(P_n) = I(P_n)$

(iii) n = k(k+2) or $n = k^2 + k - 1$ for some non negative integer k.

Proof: (i) (⇒) (iii)

Assume $n = k^2 + k + 1 + t$, for $1 \le t \le k$ and show that $J(P_n) \notin \mathbb{N}$. By Theorem 1,

$$J(P_n) = k + \frac{tk^2 + (k+1-t)(k-1)^2}{k^2 - 1 + t} = k + k - 1 + \frac{tk}{k^2 - 1 + t}.$$

 $1 \le t \le k$ implies that $k \le tk \le k^2$, so $0 < \frac{tk}{k^2 - 1 + t} < 1$. Therefore, $2k - 1 < J(P_n) < 2k$, so $J(P_n) \notin \mathbb{N}$. Similarly if n = k(k+2) + t, for $1 \le t \le k$ then by Theorem 1,

$$J(P_n) = k + \frac{t(k+1)^2 + (k+1-t)k^2}{k^2 + k + t} = 2k + \frac{tk+t}{k^2 + k + t}.$$

 $1 \le t \le k$ implies that $tk + t \le k^2 + t < k^2 + k + t$, so that $0 < \frac{tk+t}{k^2+k+t} < 1$. Therefore, $2k < J(P_n) < 2k + 1$, so $J(P_n) \notin \mathbb{N}$. Thus $J(P_n) \in \mathbb{N}$ if and only if n = k(k+2) or $n = k^2 + k - 1$ for some $k \in \mathbb{N}$.

(iii) (⇒) (ii)

Assume n = k(k+2) then $I(P_n) = \lceil 2\sqrt{n+1} \rceil - 2 = \lceil 2\sqrt{k^2 + 2k + 1} \rceil - 2 = 2k = J(P_n)$.

If $n = k^2 + k - 1$ then $I(P_n) = \lceil 2\sqrt{n+1} \rceil - 2 = \lceil 2\sqrt{k^2 + k} \rceil - 2$.

Unfortunately, $\sqrt{k^2 + k}$ is not an integer, however $I(P_n) =$

 $\left[2\sqrt{k^2+k}\right]-2 \le \left[2\sqrt{k^2+k+1/4}\right]-2 = \left[2(k+1/2)\right]-2 = 2k-1.$

Furthermore $I(P_n) = \lceil 2\sqrt{k^2 + k} \rceil - 2 > 2k - 2$. So $I(P_n) = 2k - 1 = J(P_n)$.

(ii) (⇒) (i) This is obvious.This last case completes the proof of the Corollary 2.

Corollary 3 The size of the J-set is unique if and only if $n \neq k^2 + k - 1$ for some $k \in \mathbb{N}$.

Proof: The proof of Theorem 1 establishes the *J*-set size for all values of n, which is k when n = k(k+2), $n = k^2 + k - 1 + t$, and n = k(k+2) + t. For $n = k^2 + k - 1$, there is a *J*-set of size k and also a *J*-set of size k+1. The preceding corollary directly follows.

Corollary 4 For $n \geq 2$, $J(C_n) = J(P_{n-1}) + 1$.

Proof: A path of length n-1 can be obtained from a cycle C_n by removing any vertex. Therefore, at most, the mean integrity of the cycle is one more than the mean integrity of P_{n-1} , so $J(C_n) \leq 1 + J(P_{n-1})$.

Similarly, adding one vertex v to a path of length n-1, along with two edges, one joining v to each endpoint of P_{n-1} , creates a cycle C_n of length n. Therefore, at most, the mean integrity of the path P_{n-1} is one less than the mean integrity of the cycle $J(C_n)$ described, so $J(P_{n-1}) \leq J(C_n) - 1$. Therefore, $J(C_n) = J(P_{n-1}) + 1$.

3 Proof of Theorem 1

 $J(G) = min_{P \subseteq V_G} \{ s + \frac{A}{n-s} \}$, where $A = \sum_{i=1}^{S_P} n_i^2$, n_i is the size of the *i*th component of G - P, s = |P|, and S_P is the number of components

of G-P. In graph G, any set P whose removal achieves this minimum is called a J-set. The mean integrity is not difficult to calculate once a J-set has been found; however, finding such a set is not an easy task, as it can be accomplished only through an exhaustive search of all possible subsets of vertices. For ease of notation in these calculations, let $J_s(G) = \min_{P \subseteq V_G} \{s + \frac{A}{n-s}\}$, where $A = \sum_{i=1}^{S_P} n_i^2$, s = |P|, S_P is the number of components of G - P, and P is any subset of V_G , not necessarily a J-set. Let $I_s(G)$ be similarly defined as $I_s(G) = \min_{P \subseteq V_G} \{s + m(G - P)\}$. The proof of Theorem 1 is split into several lemmas.

Lemma 5 Let n, s, n_i be whole numbers, for $1 \le i \le s+1$, such that $\sum_{i=1}^{s+1} n_i = n-s$. Let $\mu = \frac{n-s}{s+1}$ and $A = \sum_{i=1}^{s+1} n_i^2$. Then A is minimized when $|n_i - \mu| < 1$ for all $1 \le i \le s+1$.

Proof: One needs to minimize $A = \sum_{i=1}^{s+1} n_i^2$ subject to the constraint $\sum_{i=1}^{s+1} n_i = n-s$. Clearly A is minimized when all n_i are the same size, that is, $n_i = \frac{n-s}{s+1} = \mu$ for $1 \le i \le s+1$. However, for the mean integrity, n_i is the size of the *i*th component, and must be an integer, which means that achieving this absolute minimum A is not always possible.

Assume there exists some n_i such that $n_i - \mu > 1$. Since $\sum_{i=1}^{s+1} n_i = n-s$, there exists some $n_j \neq n_i$ such that $n_j < \mu$. Without loss of generality, assume $n_1 - \mu > 1$ and $n_2 < \mu$. Let $A_1 = \sum_{i=1}^{s+1} n_i^2$ and $A_2 = (n_1 - 1)^2 + (n_2 + 1)^2 + \sum_{i=3}^{s+1} n_i^2$. Then $A_1 - A_2 = 2(n_1 - n_2 - 1)$. $n_1 - \mu > 1$ and $n_2 < \mu$ imply that $n_1 - n_2 > 1$. Therefore, $A_2 < A_1$. The case when there exists some n_i such that $\mu - n_i > 1$ is dealt with similarly. Therefore, A is minimized when $|n_i - \mu| < 1$, for all $i, 1 \leq i \leq s + 1$.

Corollary 6 For a given $n, s \in \mathbb{N}$, where s = |P| and $\frac{n-s}{s+1}$ is not an integer, the number of components in $P_n - P$ of size $\lceil \frac{n-s}{s+1} \rceil$, or $R_{\lceil \frac{n-s}{s+1} \rceil}$, is $n+1-(\lceil \frac{n-s}{s+1} \rceil)(s+1)$, and the number of components of size $\lfloor \frac{n-s}{s+1} \rfloor$, or $R_{\lfloor \frac{n-s}{s+1} \rfloor}$, is $(s+1)(\lceil \frac{n-s}{s+1} \rceil + 1) - n - 1$.

Proof: Removing s vertices from P_n leaves s+1 components. By Lemma 5, each of these components must be of size $\lceil \frac{n-s}{s+1} \rceil$ or of size $\lceil \frac{n-s}{s+1} \rceil$.

Let
$$R_{\lceil \frac{n-s}{s+1} \rceil} = y$$
.
Then $R_{\lceil \frac{n-s}{s+1} \rceil} = s+1-y$.

 $\sum_{i=1}^{s+1} n_i = n - s \text{ implies that } y(\lceil \frac{n-s}{s+1} \rceil) + (s+1-y)(\lfloor \frac{n-s}{s+1} \rfloor) = n - s.$ Let $x = \lceil \frac{n-s}{s+1} \rceil$. Then $x-1 = \lfloor \frac{n-s}{s+1} \rfloor$. The above equation becomes

$$xy + (s+1-y)(x-1) = n-s.$$

Solving this equation for y yields

$$y = n + 1 - x(s+1)$$

or equivalently

$$R_{\lceil \frac{n-s}{s+1} \rceil} = n+1 - (\lceil \frac{n-s}{s+1} \rceil)(s+1).$$

Using this formula one obtains:

$$R_{\lfloor \frac{n-s}{s+1} \rfloor} = (s+1)(\lceil \frac{n-s}{s+1} \rceil + 1) - n - 1.$$

The next lemma addresses how large a J-set can be.

Lemma 7 The size of any J-set of path P_n must be within one of $\mu = \frac{n-s^*}{s^*+1}$, where $s^* = -1 + \sqrt{n+1}$.

Proof: By Lemma 5, A is minimized when all components are of equal size $\mu = \frac{n-s}{s+1}$, and

$$J(P_n) \ge s + \frac{\sum_{i=1}^{s+1} (\frac{n-s}{s+1})^2}{n-s} = s + \frac{(s+1)\frac{(n-s)^2}{(s+1)^2}}{n-s} = s + \frac{n-s}{s+1}.$$
Let $s^* \in \mathbb{R}$ such that s^* minimizes $g(s) = s + \frac{n-s}{s+1}$ for a given $n \in \mathbb{N}$.

$$g'(s) = 1 + \frac{-(s+1) - (n-s)}{(s+1)^2} = 1 + \frac{-(n+1)}{(s+1)^2}$$

$$g''(s) = \frac{2(n+1)}{(s+1)^3} > 0$$

g''>0 implies a minimum exists at s^* such that $g'(s^*)=0$. Then $n+1=(s^*+1)^2$ which implies that $s^*=-1\pm\sqrt{n+1}$. Since s must be nonnegative, let $s^*=-1+\sqrt{n+1}$. The equation $n+1=(s^*+1)^2$ can be changed into the equation $s^*=\frac{n-s^*}{s^*+1}$. This means the minimum of g(s) occurs at $g(s^*)=2s^*$.

Call the minimum of g(s) $J_{s^*} = s^* + \frac{n-s^*}{s^*+1} = 2s^*$. As previously stated, this s^* may not be an integer. Now suppose some real number b is added to this "ideal set size" s^* to make it into an integer. The minimum possible mean integrity with $s = s^* + b$ is $J_{s^*+b} = s^* + b + \frac{n-s^*-b}{s^*+b+1}$. Compare J_{s^*} to J_{s^*+b} by defining f(b) as follows.

$$f(b) = J_{s^{\bullet} + b} - J_{s^{\bullet}}.$$

Substituting $n = (s^*)^2 + 2s^*$ yields

$$f(b) = J_{s^*+b} - J_{s^*} = \frac{b^2}{b+s^*+1}$$

f(b) measures how far this $J_{s^{\bullet}+b}$ is from the ideal $J_{s^{\bullet}}$, and the goal is to minimize this difference.

$$f'(b) = \frac{b[b+2(s^*+1)]}{(b+s^*+1)^2}.$$

So f'(b) = 0 when b = 0 or $b = -2(s^* + 1)$. However, since $b + s^* \ge 0$, the latter never occurs. Additionally, f'(b) < 0 when b < 0, and f'(b) > 0 when 0 < b. Therefore, minimizing the difference between J_{s^*+b} and the absolute minimum requires staying as close as possible to b = 0. In other words, the J-set must be as close as possible in size to $s^* = \frac{n-s^*}{s^*+1}$. Exactly s^* vertices can be removed only when s^* is a whole number; otherwise, $s = \lfloor \frac{n-s^*}{s^*+1} \rfloor$ or $s = \lfloor \frac{n-s^*}{s^*+1} \rfloor$, whichever yields a smaller value for J_{s^*+b} .

Now all of the necessary tools are in place to prove the main theorem. The proof is split into four cases. Cases (i) and (ii) explore what happens when $n = k^2 + k - 1$ and n = k(k+2), respectively. Case (iii) examines what happens for n between $k^2 + k - 1$ and k(k+2). Similarly, Case (iv) addresses the situation for n between k(k+2) and $(k+1)^2 + (k+1) - 1$.

Proof of Case (i). Assume n = k(k+2).

By Lemma 7, $s^* = -1 + \sqrt{n+1} = k$. Since $s^* \in \mathbb{N}$, $s = s^* = k$, that is, k vertices must be removed to achieve the mean integrity. By Lemma 5, all component sizes must be within 1 of $\mu = \frac{n-s}{s+1} = \frac{k^2+2k-k}{k+1} = k$, so all components must be size k. Removing k vertices leaves k+1 components of size k, so $J(P_n) = k + \frac{(k+1)k^2}{k^2+k} = 2k$.

Proof of Case (ii). Assume $n = k^2 + k - 1$.

By Lemma 7, $s^*=-1+\sqrt{n+1}=-1+\sqrt{k^2+k}$. The following inequality $-1+\sqrt{k^2}\leq -1+\sqrt{k^2+k}\leq -1+\sqrt{k^2+2k+1}$ implies $k-1\leq s^*\leq k$.

Since $s^* \notin \mathbb{N}$, $s = \lfloor s^* \rfloor = k-1$ or $s = \lceil s^* \rceil = k$, whichever yields the lowest value for $J_s(P_n)$. For $s_1 = k-1$, Lemma 5 implies all component sizes must be less than one away from $\mu = \frac{n-s_1}{s_1+1} = \frac{k^2+k-1-(k-1)}{(k-1)+1} = k$, so all components must be size k. Removing k-1 vertices leaves k components of size k, so $J_{s_1}(P_n) = k-1+\frac{k(k^2)}{k^2} = 2k-1$. Now check J_s if s = k vertices are removed. For $s_2 = k$, Lemma 5 implies all component sizes must be less than one away from $\mu = \frac{n-s_2}{s_2+1} = \frac{k^2+k-1-k}{k+1} = k-1$, so all components must be size k-1. Removing k vertices leaves k+1 components of size k-1, so $J_{s_2}(P_n) = k + \frac{(k+1)(k-1)^2}{k^2-1} = k + \frac{(k+1)(k-1)^2}{(k+1)(k-1)} = 2k-1$. Therefore for $n = k^2 + k - 1$, $J_s(P_n)$ is minimized by two values for s, that is s = k and s = k-1.

Proof of Case (iii). Assume $n = k^2 + k - 1 + t$, where $1 \le t \le k$.

 $s^* = -1 + \sqrt{n+1} = -1 + \sqrt{k^2 + k + t}$. The following inequality $-1 + \sqrt{n+1} = -1 + \sqrt{n+1} = -1$ $\sqrt{k^2} < -1 + \sqrt{k^2 + k + t} < -1 + \sqrt{k^2 + 2k + 1}$ implies that $k - 1 < s^* < k$.

Here $s^* \notin \mathbb{N}$, so s = k-1 or s = k, that is, the mean integrity is achieved by removing either a set of k-1 vertices or a set of k vertices, whichever

removal yields the smaller value for J_s . Let $s_1 = k$ and $s_2 = k - 1$. For $s_1 = k$, $\frac{n-s_1}{s_1+1} = \frac{k^2-1+t}{k+1} = k-1+\frac{t}{k+1}$ $0 < t \le k$ implies that $0 < \frac{t}{k+1} < 1$, so $\lfloor \frac{n-s_1}{s+1} \rfloor = k-1$ and $\lfloor \frac{n-s_1}{s+1} \rfloor = k$. By Corollary 6,

$$R_{k-1} = (k+1)(k+1) - (k^2 + k - 1 + t) - 1 = k + 1 - t,$$

and

$$R_k = k^2 + k - 1 + t + 1 - k(k+1) = t.$$

When k vertices are removed, (k+1-t) components of size k-1 and t components of size k remain, so $J_{s_1} = k + \frac{tk^2 + (k+1-t)(k-1)^2}{k^2 - 1 + t}$.

$$J_{s_1} = k + \frac{tk^2 + (k+1-t)(k-1)^2}{k^2 - 1 + t}.$$

For
$$s_2 = k - 1$$
, $\frac{n - s_2}{s_2 + 1} = \frac{k^2 + k - 1 + t - k + 1}{k} = k + \frac{t}{k}$

 $0 < t \le k$ implies that $0 < \frac{t}{k} \le 1$. If $\frac{t}{k} = 1$, then t = k, and all components are size k+1. If $t \neq k$, then $0 < \frac{t}{k} < 1$ and $\lfloor \frac{n-s_2}{s_2+1} \rfloor = k$ and $\left\lceil \frac{n-s_2}{s_2+1} \right\rceil = k+1$. By Corollary 6,

$$R_k = k(k+2) - (k^2 + k - 1 + t) - 1 = k - t$$

and

$$R_{k+1} = k^2 + k - 1 + t + 1 - (k+1)k = t.$$

In either case, when k-1 vertices are removed, (k-t) components of size k and t components of size k+1 remain, so

$$J_{s_2} = k - 1 + \frac{(k-t)k^2 + t(k+1)^2}{k^2 + t}$$
.
Here,

$$J_{s_2} = k - 1 + \frac{(k-t)k^2 + t(k^2 + 2k + 1)}{k^2 + t}$$
$$= k + \frac{tk^2 + k^3 - 2k^2 + k + k^2 - 2k + 1 - tk^2 + 2tk - t}{k^2 - 1 + t},$$

and

$$J_{s_1} = k + \frac{(k^3 - k + 2tk) - (k^2 - 1 + t)}{k^2 - 1 + t} = 2k - 1 + \frac{tk}{k^2 - 1 + t}.$$

Now assume $J_{s_2} \leq J_{s_1}$. Then $J_{s_2} - J_{s_1} \leq 0$. That is,

$$2k-1+\frac{kt+t}{k^2+t}-[2k-1+\frac{tk}{k^2-1+t}]\leq 0,$$

or equivalently

$$\frac{t^2 + tk^2 - (t + tk)}{(k^2 + t)(k^2 - 1 + t)} \le 0.$$

Since $(k^2+t)(k^2-1+t) > 0$, $t^2+tk^2-(t+tk) \le 0$. This is a contradiction because for $k \ge 2$, $k < k^2$. Also, $t \ge 1$, so $k^2 + t > k + 1$, which implies that $tk^2 + t^2 - (tk + t) > 0$, so $J_{s_2} \nleq J_{s_1}$. Therefore, $J_{s_2} > J_{s_1}$, and s_1 is a J-set, so $J(P_n) = J_{s_1} = k + \frac{tk^2 + (k+1-t)(k-1)^2}{k^2 - 1 + t}$.

Proof of Case (iv). Assume n = k(k+2) + t, for $1 \le t \le k$.

 $s^* = -1 + \sqrt{n+1} = -1 + \sqrt{k^2 + 2k + t + 1}$ The following inequality $-1 + \sqrt{k^2 + 2k + 1} < -1 + \sqrt{k^2 + 2k + 1} < -1 + \sqrt{k^2 + 4k + 4}$, implies that $k < s^* < k + 1$.

Here s^* is not a whole number, so s = k or s = k + 1, that is, the mean integrity is achieved by removing either a set of k vertices or a set of k+1vertices, whichever removal yields the smaller value for J_s . Let $s_1 = k$ and $s_2 = k + 1$. A similar argument to case (iii) can now be carried out.

For $s_1 = k$, $\frac{n-s_1}{s_1+1} = k + \frac{t}{k+1}$.

 $0 < t \le k$ implies that $0 < \frac{t}{k+1} < 1$, so $\lfloor \frac{n-s_1}{s_1+1} \rfloor = k$ and $\lceil \frac{n-s_1}{s_1+1} \rceil = k+1$. By Corollary 6,

$$R_k = (k+1)(k+2) - (k^2 + 2k + t) - 1 = k+1-t$$

and

$$R_{k+1} = k^2 + 2k + t + 1 - (k+1)^2 = t.$$

When k vertices are removed, (k+1-t) components of size k and t

components of size
$$k+1$$
 remain, so $J_{s_1} = k + \frac{t(k+1)^2 + (k+1-t)k^2}{k^2 + k + t} = \frac{k^3 + k^2 + 2tk + t}{k^2 + k + t}.$ For $s_2 = k+1$, $\frac{n-s_2}{s_2+1} = k-1 + \frac{t+1}{k+2}.$

 $0 < t \le k$ implies that $0 < \frac{t+1}{k+2} < 1$, so $\left| \frac{n-s_2}{s-k+1} \right| = k-1$ and $\left[\frac{n-s_2}{s-k+1} \right] = k$. By Corollary 6,

$$R_{k-1} = (k+2)(k+1) - (k^2 + 2k + t) - 1 = k+1-t,$$

and

$$R_k = k^2 + 2k + t + 1 - k(k+2) = t + 1.$$

When k+1 vertices are removed, (k+1-t) components of size k-1 and t+1 components of size k remain, so

$$J_{s_2} = k + 1 + \frac{(k+1-t)(k-1)^2 + (t+1)k^2}{k^2 + k + t - 1} = \frac{k^3 + k^2 + 2tk + t}{k^2 + k + t}.$$
 Now assume $J_{s_2} \le J_{s_1}$. Then $J_{s_2} - J_{s_1} \le 0$. That is,

$$\frac{k^3 + k^2 + 2tk}{k^2 + k + t - 1} - \frac{k^3 + k^2 + 2tk + t}{k^2 + k + t} \le 0.$$

This inequality is equivalent to

$$\frac{k^3 + k^2 + tk + t - (k^2t + t^2)}{(k^2 + k + t - 1)(k^2 + k + t)} \le 0.$$

Since $(k^2+k+t-1)(k^2+k+t)>0$, $k^3+k^2+tk+t-(k^2t+t^2)\leq 0$. This is a contradiction because $0< t\leq k$ implies that $k^3+k^2+tk+t>k^2t+t^2$, so $k^3+k^2+tk+t-(k^2t+t^2)>0$ and $J_{s_2}\not\leq J_{s_1}$. Therefore, $J_{s_2}>J_{s_1}$, s_1 is a J-set, and $J(P_n)=J_{s_1}=k+\frac{t(k+1)^2+(k+1-t)k^2}{k^2+k+t}$. This completes the proof of case (iv) and also completes the proof of Theorem 1.

References

- K.S. Bagga, L.W. Beineke, W.D. Goddard, M.J. Lipman and R.E. Pippert, A survey of integrity, Discrete Applied Mathematics 37/38 (1992), pp. 13-28.
- [2] K.S. Bagga, L.W. Beineke, W.D. Goddard, M.J. Lipman and R.E. Pippert, Edge integrity-a survey, Discrete Applied Mathematics 124(1994), pp 3-12.
- [3] C.A. Barefoot, R. Entringer and H. Swart, Vulnerability in graphs-A comparative survey, J. Combin. Math. Combin. Comput. 1(1987), pp. 12-22.
- [4] C.A. Barefoot, R. Entringer and H. Swart, *Integrity of trees and powers of cycles*, Congr. Numer. **58**(1987), pp. 103-114.
- [5] G. Chartrand, S.F. Kapoor, T.A. McKee and O.R. Oellermann, The mean integrity of a graph, Recent Studies in Graph Theory (V.R. Kulli. Ed.), Vishwa International Publications, Gulbarga, India (1989), pp. 70-80.
- [6] G. Chartrand and L. Lesniak, Graphs and Digraphs Second Edition, Wadsworth, Inc., California, 1986.
- [7] J. Gross and J. Yellen, Graph Theory and its Applications, CRC Press, New York, 1999.